DARLINGTON CRICKET CLUB 1st XI 2006

<u>LEAGUE</u>			PLAYED NOT STARTED WON LOST DRAWN	26 3 4 10 9 (inc. 2 abd.)
	11th	IN LEAGUE WITH	236 POINTS	
	<u>TOSS</u>	WON LOST	11 12	
<u>CUPS</u>			PLAYED WON LOST	6 3 3

TOSS	WON	3
	LOST	3

LEAGUE

LEAGUE	Matches	<u>Innings</u>	<u>Runs</u>	Highest <u>Score</u>	Not <u>Out</u>	Comp. <u>Innings</u>	<u>Average</u>	Balls <u>Faced</u>	Balls/ <u>Run</u>	Numt <u>4's</u>	per of <u>6's</u>
A.K. HEAL	21	20	681	120*	4	16	42.56	963	1.414	74	9
N. PRATT	23	22	852	81*	1	21	40.57	1636	1.920	115	14
D.J.B. MORGANS	18	17	306	55*	2	15	20.40	585	1.912	37	2
J.M. ALDERSON	22	20	311	38*	3	17	18.29	508	1.633	32	2
J.S. CLARKSON	22	20	352	64	0	20	17.60	846	2.403	40	0
J.G. MOODY	17	15	197	78	3	12	16.42	382	1.939	18	0
S.N. WHITEHEAD	21	19	129	22	2	17	7.59	244	1.891	16	0
Also Batted											
S. CHAPMAN	3	3	119	63	0	3	39.67	199	1.672	19	1
C.S. BIGLIN	2	2	77	61	0	2	38.50	102	1.325	8	2
L.J. HUTTON	10	7	83	33*	3	4	20.75	129	1.554	8	0
D.M. HODGSON	11	10	90	30	2	8	11.25	208	2.311	6	0
L.D. COATES	6	5	20	12*	3	2	10.00	75	3.750	2	0
J. SYMONDS	2	2	15	11	0	2	7.50	39	2.600	1	0
A.J.W. DEUCHAR	22	10	44	13*	4	6	7.33	116	2.636	3	0
P.D. RAINE	21	6	16	6*	3	3	5.33	59	3.688	2	0
L.J. CRAGGS	9	3	6	6*	1	2	3.00	23	3.833	1	0
K. BARKER	1	1	1	1	0	1	1.00	4	4.000	0	0
J. STOCK	4	3	2	1*	1	2	1.00	15	7.500	0	0
S. LEE	2	2	32	31*	2	0	N/A	71	2.219	1	0
R. TULIP	2	1	3	3*	1	0	N/A	4	1.333	0	0
D.J. COATES	2	1	2	2*	1	0	N/A	12	6.000	0	0
M.T. DOBINSON	9	2	1	1*	2	0	N/A	11	11.000	0	0
A. FENWICK	3	1	0	0*	1	0	N/A	1	N/A	0	0

RUNS SCORED FOR

WICKETS LOST

<u>AVERAGE</u>

3622

153

							Best	Runs/	Strike	Nun	nber of
	<u>Balls</u>	Overs	Mdns	<u>Runs</u>	Wkts	Average	Bowling	Over	Rate	Wides	<u>No Balls</u>
J.S. CLARKSON	658	106.5	13	427	18	23.72	3-16	4.009	36.56	6	11
A.K. HEAL	1745	290.3	51	1011	42	24.07	5-59	3.483	41.55	2	0
N. PRATT	762	124.2	19	410	17	24.12	3-17	3.301	44.82	13	3
P.D. RAINE	1276	212.4	49	724	17	42.59	3-10	3.409	75.06	0	0
A.J.W. DEUCHAR	845	140	24	490	11	44.55	2-12	3.500	76.82	5	0
Also Bowled											
L.J. CRAGGS	39	6	0	24	3	8.00	2-16	4.000	13.00	3	0
S. CHAPMAN	150	25	5	71	8	8.88	4-23	2.840	18.75	0	0
A. FENWICK	64	10.4	1	78	2	39.00	2-3	7.500	32.00	0	0
J.M. ALDERSON	544	88	8	422	9	46.89	2-21	4.795	60.44	6	10
J. STOCK	170	27	1	131	2	65.50	1-16	4.852	85.00	6	2
R. TULIP	13	2	0	18	0	N/A	0-18	9.000	N/A	1	0

Catches

Stumpings

M.T. DOBINSON 5 D.M. HODGSON 2	2
--------------------------------	---

RUNS SCORED AGAINST

WICKETS TAKEN

AVERAGE

3988

135

<u>CUPS</u>

				Highest	Not	Comp.		Balls	Balls/	Numb	per of
	Matches	<u>Innings</u>	Runs	Score	<u>Out</u>	<u>Innings</u>	Average	Faced	<u>Run</u>	<u>4's</u>	<u>6's</u>
	6	6	171	70	1	-	20.20	117	0.7(2	1.5	~
A.K. HEAL	6	6	151	79	1	5	30.20	115	0.762	15	5
N. PRATT	6	6	137	64*	1	5	27.40	172	1.255	16	1
S.N. WHITEHEAD	6	5	90	44	1	4	22.50	84	0.933	11	1
J.M. ALDERSON	6	5	44	29	0	5	8.80	56	1.273	1	2
Also Batted											
D.J.B. MORGANS	4	4	94	49*	2	2	47.00	119	1.266	9	0
L.J. HUTTON	3	2	21	16*	1	1	21.00	26	1.238	1	0
D.M. HODGSON	4	3	18	8*	2	1	18.00	31	1.722	1	0
J.S. CLARKSON	2	2	28	28	0	2	14.00	45	1.607	1	0
C.S. BIGLIN	3	3	22	11	1	2	11.00	37	1.682	0	0
J.G. MOODY	3	2	11	10	0	2	5.50	14	1.273	1	0
M.C.C. MORGANS	1	1	4	4	0	1	4.00	3	0.750	1	0
S. RUSSELL	1	1	3	3	0	1	3.00	3	1.000	0	0
L.J. CRAGGS	6	2	2	2*	1	1	2.00	6	3.000	0	0
A.J.W. DEUCHAR	5	1	0	0*	1	0	N/A	0	N/A	0	0

Played but did not Bat

P.D. RAINE	4
N.R. FENWICK	3
M.T. DOBINSON	2
R. TULIP	1

RUNS SCORED FOR

WICKETS LOST

AVERAGE

699

32

							Best	Runs/	Strike	Nun	nber of
	Balls	Overs	Mdns	Runs	Wkts	Average	Bowling	Over	Rate	Wides	<u>No Balls</u>
A.K. HEAL	165	27	2	138	13	10.62	4-24	5.111	12.69	3	0
J.S. CLARKSON	65	10	1	57	4	14.25	4-30	5.700	16.25	4	1
P.D. RAINE	156	26	1	174	4	43.50	4-53	6.692	39.00	0	0
Also Bowled											
			0		_						0
R. TULIP	13	2	0	14	2	7.00	2-14	7.000	6.50	1	0
L.J. CRAGGS	12	2	0	18	1	18.00	1-18	9.000	12.00	0	0
A.J.W. DEUCHAR	125	20	1	109	3	36.33	1-8	5.450	41.67	5	0
J.M. ALDERSON	111	18.1	1	115	3	38.33	1-13	6.354	37.00	2	0
M.C.C. MORGANS	6	1	0	9	0	N/A	0-9	9.000	N/A	0	0
S. RUSSELL	6	1	0	12	0	N/A	0-12	12.000	N/A	0	0
N. PRATT	36	6	0	43	0	N/A	0-15	7.167	N/A	0	0

Catches

N. PRATT	4	L.J. CRAGGS		2
M.T. DOBINSON	J	C.S. BIGLIN	J	
A.K. HEAL	} 3	D.M. HODGSON	}	1
L.J. HUTTON	J	S. RUSSELL	J	

Stum	pings

RUNS SCORED AGAINST

WICKETS TAKEN

35

AVERAGE

722

<u>50's</u>	N. PRATT	81*	v RICHMONDSHIRE	(A)	LEAGUE	50 off 120 balls
	A.K. HEAL	79	v NORTHALLERTON	(H)	CUP	22
	A.K. HEAL	78	v REDCAR	(H)	LEAGUE	66
	J.G. MOODY	78	v GUISBOROUGH	(A)	LEAGUE	116
	N. PRATT	75	v DARLINGTON RA	(H)	LEAGUE	75
	A.K. HEAL	71	v NORMANBY HALL	(A)	LEAGUE	57
	A.K. HEAL	67	v HARTLEPOOL	(A)	LEAGUE	68
	A.K. HEAL	64*	v RICHMONDSHIRE	(A)	LEAGUE	72
	N. PRATT	64*	v GREAT AYTON	(H)	CUP	73
	J.S. CLARKSON	64	v NORMANBY HALL	(A)	LEAGUE	110
	N. PRATT	63	v RICHMONDSHIRE	(H)	LEAGUE	75
	S. CHAPMAN	63	v DARLINGTON RA	(H)	LEAGUE	76
	N. PRATT	63	v DARLINGTON RA	(A)	LEAGUE	97
	N. PRATT	61	v GREAT AYTON	(A)	LEAGUE	55
	C.S. BIGLIN	61	v NORMANBY HALL	(H)	LEAGUE	69
	N. PRATT	61	v MIDDLESBROUGH	(A)	LEAGUE	70
	A.K. HEAL	60*	v REDCAR	(A)	LEAGUE	102
	J.S. CLARKSON	58	v GREAT AYTON	(A)	LEAGUE	66
	D.J.B. MORGANS	55*	v MARSKE	(H)	LEAGUE	115
	N. PRATT	54	v SALTBURN	(A)	LEAGUE	118
	A.K. HEAL	53*	v DARLINGTON RA	(H)	LEAGUE	46
	N. PRATT	52	v SALTBURN	(H)	LEAGUE	93

FASTEST 50

A.K. HEAL	79 v	NORTHALLERTON	(H)	CUP	off	22 balls
-----------	------	---------------	-----	-----	-----	----------

HIGHEST LEAGUE PARTNERSHIPS

1st	WICKET	138 (183) v DARLINGTON RA	(H) N. PRATT	69* (94)	+	S. CHAPMAN	63 (89)
2nd	WICKET	121 (153) v NORMANBY HALL	(A) J.S. CLARKSON	38* (76)	+	A.K. HEAL	71 (77)
3rd	WICKET	73 (137) v REDCAR	(H) A.K. HEAL	37* (47)	+	J.S. CLARKSON	28 (90)
4th	WICKET	72 (44) v BISHOP AUCKLAND	(H) A.K. HEAL	53* (22)	+	J.M. ALDERSON	15 (22)
5th	WICKET	48* (55) v RICHMONDSHIRE	(H) J.M. ALDERSON	15* (20)	+	D.J.B. MORGANS	30* (35)
6th	WICKET	35 (27) v DARLINGTON RA	(A) J.G. MOODY	9* (10)	+	S.N. WHITEHEAD	22 (17)
7th	WICKET	34* (36) v MARSKE	(H) D.J.B. MORGANS	20* (19)	+	A.J.W. DEUCHAR	13* (17)
=7th	WICKET	34 (45) v NORMANBY HALL	(H) L.J. HUTTON	11* (18)	+	D.M. HODGSON	16 (27)
8th	WICKET	32 (44) v REDCAR	(H) D.M. HODGSON	19* (21)	+	A.J.W. DEUCHAR	11 (23)
9th	WICKET	9 (14) v NORTHALLERTON	(A) D.M. HODGSON	6* (5)	+	A.J.W. DEUCHAR	3 (9)
=9th	WICKET	9 (16) v SALTBURN	(A) D.J. COATES	2* (12)	+	L.J. HUTTON	5 (4)
10th	WICKET	15 (47) v BISHOP AUCKLAND	(A) P.D. RAINE	6* (22)	+	A.J.W. DEUCHAR	8 (25)

LEAGUE

	BOWLED	<u>CAUGHT</u>	<u>L.B.W.</u>	STUMPED	<u>RUN OUT</u>
N. PRATT	4	14	3	0	0
J.S. CLARKSON	0	15	1	3	1
J.M. ALDERSON	5	7	2	2	1
S.N. WHITEHEAD	7	7	1	0	2
A.K. HEAL	5	8	1	1	1
D.J.B. MORGANS	6	7	0	1	1
J.G. MOODY	2	7	2	1	0
D.M. HODGSON	0	3	5	0	0
A.J.W. DEUCHAR	1	3	0	0	2
L.J. HUTTON	1	0	1	1	1
S. CHAPMAN	1	2	0	0	0
P.D. RAINE	3	0	0	0	0
C.S. BIGLIN	1	1	0	0	0
L.D. COATES	0	1	1	0	0
L.J. CRAGGS	1	1	0	0	0
J. STOCK	0	1	0	0	1
J. SYMONDS	0	2	0	0	0
K. BARKER	0	1	0	0	0
	37	80	17	9	10

CUP

J.M. ALDERSON	0	2	0	1	1
	0	3	0	1	1
A.K. HEAL	0	4	0	I	0
N. PRATT	0	4	0	1	0
S.N. WHITEHEAD	1	2	0	1	0
C.S. BIGLIN	1	1	0	0	0
J.S. CLARKSON	1	1	0	0	0
J.G. MOODY	0	2	0	0	0
D.J.B. MORGANS	1	1	0	0	0
L.J. CRAGGS	0	1	0	0	0
D.M. HODGSON	0	1	0	0	0
L.J. HUTTON	0	1	0	0	0
M.C.C. MORGANS	0	1	0	0	0
S. RUSSELL	0	0	0	0	1
	4	19	0	3	1

<u>5 WICKET</u>	A.K. HEAL	5-59	v	MARTON	(H)	LEAGUE
	A.K. HEAL	5-64	v	BISHOP AUCKLAND	(A)	LEAGUE
4 WICKET	S. CHAPMAN	4-23	v	RICHMONDSHIRE	(A)	LEAGUE
	A.K. HEAL	4-24	v	GREAT AYTON	(H)	CUP
	J.S. CLARKSON	4-30	v	GREAT AYTON	(H)	CUP
	A.K. HEAL	4-38	v	NORMANBY HALL	(A)	LEAGUE
	P.D. RAINE	4-53	v	WILLINGTON	(H)	CUP
	A.K. HEAL	4-71	v	HARTLEPOOL	(H)	LEAGUE
3 WICKET	A.K. HEAL	3-9	v	NORTHALLERTON	(H)	CUP
	P.D. RAINE	3-10	v	DARLINGTON RA	(A)	LEAGUE
	J.S. CLARKSON	3-16	v	NORMANBY HALL	(A)	LEAGUE
	N. PRATT	3-17	v	DARLINGTON RA	(H)	LEAGUE
	S. CHAPMAN	3-31	v	BISHOP AUCKLAND	(A)	LEAGUE
	A.K. HEAL	3-35	v	BISHOP AUCKLAND	(H)	LEAGUE
	N. PRATT	3-35	v	MARTON	(H)	LEAGUE
	N. PRATT	3-37	v	REDCAR	(H)	LEAGUE
	A.K. HEAL	3-41	v	HETTON LYONS	(H)	CUP
	P.D. RAINE	3-41	v	NORTHALLERTON	(A)	LEAGUE
	A.K. HEAL	3-42	v	SALTBURN	(H)	CUP
	A.K. HEAL	3-45	v	DARLINGTON RA	(A)	LEAGUE
	N. PRATT	3-52	v	NORMANBY HALL	(H)	LEAGUE
	J.S. CLARKSON	3-53	v	BISHOP AUCKLAND	(H)	LEAGUE
	A.K. HEAL	3-77	v	MIDDLESBROUGH	(A)	LEAGUE

<u>LEAGUE</u>

	BOWLED	<u>CAUGHT</u>	<u>L.B.W.</u>	<u>STUMPED</u>
A.K. HEAL	6	22	9	5
J.S. CLARKSON	3	10	5	0
N. PRATT	5	9	3	0
P.D. RAINE	0	13	4	0
A.J.W. DEUCHAR	4	7	0	0
J.M. ALDERSON	3	5	0	1
S. CHAPMAN	3	3	1	1
L.J. CRAGGS	1	2	0	0
A. FENWICK	0	2	0	0
J. STOCK	1	1	0	0
	26	74	22	7
<u>CUPS</u>				
A.K. HEAL	2	7	0	4
J.S. CLARKSON	1	3	0	0
P.D. RAINE	0	4	0	0
J.M. ALDERSON	3	0	0	0
A.J.W. DEUCHAR	0	3	0	0
R. TULIP	2	0	0	0
L.J. CRAGGS	0	1	0	0
	8	18	0	4

<u>RESULTS</u>			LEACHE		CI	ID
		WON	<u>LEAGUE</u> LOST	DRAWN	<u>CU</u> WON	<u>LOST</u>
<u>BATTING 1st</u>	HOME	0	4	2	1	2
	AWAY	1	3	2	0	0
BATTING 2nd	HOME	1	2	3	2	1
	AWAY	2	1	2	0	0

A very disappointing season, finishing eleventh in the league after winning only four matches and loosing ten. We only managed to score 236 points, our lowest total since the league's points restructure in 1975, whilst conceding 327 points.

Five players made their 1st team league debut's this season, J.S.Clarkson, A. Fenwick, A.K. Heal, S. Lee and J. Symonds.

In the league programme there were three century partnerships: 2 for the 2^{nd} wicket and 1 for the 1^{st} wicket. There were 18 other partnerships over 50: 7 for the 2^{nd} wicket, 5 for the 1^{st} wicket, 3 for the 3^{rd} wicket, 2 for the 4^{th} wicket and 1 for the 6^{th} wicket.

As a team we scored our runs at an average of 1.721 balls per run.

There were some good batting performances this year, the most memorable was Aaron Heal's 120* at home to Bishop Auckland, when on 72 the next over read '4,6,6,6,6,1' finishing the over on 101. Neil Pratt also had 8 scores over 50 and James Clarkson scoring two 50's and over 350 runs in his first season.

We also failed to capitalise when Brian Hood lost count and gave us a 12 ball over which only included one no ball.

Aaron Heal lead the wicket taking with 42 victims, which included two five wicket hauls. The remaining wickets were shared out amongst the rest of the bowlers.

We bowled a total of 68 extra deliveries due to no balls and wides, which was a significant reduction on last year. These deliveries cost a total of 70 extra runs and 2 wickets.

As a team we had a strike rate of 46.41.

We only bowled one side out this year, winning the match.

We did the double over Richmondshire this season while Bishop Auckland, Guisborough, Northallerton and Redcar managed to do it over us.

All cup matches this season were on home turf, we got off to a good start winning all the first round matches, unfortunately loosing in the second round.

In the Saunders Cup we got off to a good start with Paul Raine taking four wickets and Danny Morgans getting 49*. In the second round we failed to set a high enough target and Hetton Lyons knocked the runs off with ease.

Our first round of the Kerridge Cup saw us beat Great Ayton off the last ball. Having held them to 135 with Aaron Heal and James Clarkson both taking four wickets, Neil Pratt (64*) and Danny Morgans (30) got us off to a good start, however, we still required 40 off the last four overs, and with the scores level with three balls remaining Lee Craggs decided to block two of them to make things interesting, then hit the winning run off the last ball. Then in our second match the bowlers failed to contain Saltburn who set a total of 171, and loosing Neil Pratt first ball of the innings we only managed 108. In the first round of the fifteens Aaron made light work of the Northallerton bowling attack smashing 79 off 32 balls and then taking three wickets for nine runs off two overs. I think Lee Hutton has a few questions to answer after winning the toss in the second round match at home to Bishop Auckland, he decided to bat and we collapsed to 47 all out and Bishop's reached the target with very little difficulty.

With the third team having another successful season, more juniors will be moving up to second team cricket, this should mean that more second team cricketers will be pushing for a first team place, which should give more competition within the selection process. This should mean that no one will be guaranteed their place and hopefully the competition for places will bring better results.